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PART : CHEMISTR

Adg) +3B{g} == Clai +Digl

Pressure made 2 times keeping T =constant

Sefect comedt statesverits.

tay Concentration of & speces will increase,

(D) B, will shelt in fonvand dirsschon.

i) Mo shift in equishnum ocors bacaiise of all concentratiins remaining sane.
(d) Canceniration of products incregses whie that of reactants decreases.

(1) (=} and (D] (2} (o] and {d] (3H{a)y and (] {4} None of these
1
PT - Eq. shifts townands kesser nin. of gaseous mokes,

- Forsard shift

Conc. of all speces increases, to keep eq. constant vake same.

Electron jumiping down from n =4 wpto groond state in a H-like sample poduces bries;

(1) & (23 (3} 12 (4} 10
{1
An(n T} _ 3e4

St === =5 Ines,

Statement : £ = not possitle tn messure smutaneousy accurately the position and momenbus of
electron or similar mowng smal partice.

Statement-ll : Due to Helsenbeny prncipis, elecron cannaot be found withen nuckews.
(1) Both Staterment | and satement | are rue

(21 Both siatement | and stefement Il &2 fElse
(3) Statement | 5 true oul stabemment H S fake

(4] Statement | s falkse bulf siafement I S e
(1)
If we ke Ax =10-% M| fucma), then fior electron by Lsing

. L
(v} fax) =—=

E62=10" a3 e
B TR AN e Al L

Velocity highier than velocty of ight is not possibie.

A%
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i,

Ans.
Sol.

£ 7

£ 3

WWhich of the fnliowing gives predaminantly 0 on electrolysis among the foliowing 7

{a) ag. AQNO: sokution (Pt electrodes) (b} ag. AgNO2 solution (Ag elecrodes)
(c} conc. HeS04 solution (Pt elecodes) i} i, Hz504 solution (Pt electrodes)
(11 [a] and (b (23 () and i) (3} {ak (b} and (c) 14] (a) and [d]
()

(a)Anode {0} 2HAD » O +4H* +4e

In MO, N k5 in highest oxidation state =5,

(b} Anode {0} (i) ZHO » O +4H" +4e— B =-123V
[} Aglsh -« Ay +de-: E¥gp =-0DB W

Esor of Agis) is more.

Sa, i) reaction s favourabie.

(c)Anode (D) ZHSOw -» S:Os™{aq) +2Haq) +2e-

(d) Anode {0}  2HO » Op +4H+ +de

.41 g of BaS0, i obtained from 0.2 g of arganic cormpoand in carlouse method % of S in omganic
compound =7

[Z8)
041 32

% of & N organic compound =—— w 100 = 28%
235 02

Smalest among L, Ma, Mo, B A will form oxide with molenuar formca

(1) A0 (2} AD: (3} ACha |41 AzO
3]

Smallest i B, which will form B:0:

MCH hnas Tion-Donded elechrons &

(1) 12 (2} 10 {318 i) 14
(1)

g=" g

A Drug expires at S0P consumption. Originally iFs 16 mgfmil is present which becomes dmgimi after
12 monthe. AL what Gre will £ not be sufabke anymore, iT  fodows sk omer kinebos 7

(L} 3 fndnt (2] B month [3] D O vy 1L mdnih
(2]
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Sl Eere =32 b or 12 =2 Xixe
|Fior first order kinetas |

Dz = B imah

g, Ghven folowing compleses

tn {1}
[FedHz01l0H):) {FefH201{0H):|]
The vaue of spin onty magnelc moment for these complexes -
(1) £ 659 65M, 591 BM 2] 5.91 BM, 4.89 8BM
i3] B9 BML 459 BM (4] 5.91 BM, 5.91 BM
Ans. (1)
Sol. | = complex of Fe with weak field Sgand, thersfore unpaied &5 =4
JATaT3 =am9EM
Il i compiex of Fe™? with weak field lgand, therefore unpaired &5 =5
J5 15+ 7) =SE3 BM

10. Among the folowing, add the spin only magnebic moment of yeliow coloured compies.
Give wour answer to nearest integer after rounding aff

(1 Kol Fe{ Tl () Kol Fet TN e
(1) ¥ ColNO: | (V) Znf Fe(CNs)
(W) CudFelChls]

L]

£ 7

Colows of | oV compiexes ae respectively yeliow, ned, yellow, white and Dmwn
KalFeiCHm], Fe~, SFL, CN =6, by, egf?

. of unpasred e =0

E:[CofNOzle]l SFL, Co*, ON =6, 7, egf®

o, of unpared e =0

~.-sun of spin magnetic morments =0,

11.  Considers the folowing reactons and seiect the comect relation
{a) C diamond .+ C graphie +x K)
{6} Cdamond - O » COz +y K
ic) C diamond - Oz - » C0h +2 K]
(Lx=y-z Ziy=x-2 (3)y=n+z {41 x =y +2
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Ans.
Sanl.

EF

(1)

AHe =— % AiHs = % : AHe = Z
@) ={of - ()

E=y-2Z

Mato

(1] Invertor ip) Hyrdrogen fuel cell

(2} Transishnr iq) Lead storage hatiery

(3) Apclio programime  (r) Znc - carbon cell

{4 Hearing aids (5% Mentury cel

(1l-gi2-ri3-pgd-=a Fl-gi2-r:3=s4-p
(H1-r;2-0:3-pd-5 Ml-ri2-q:3-rd-p
{1

Watch Video Soluthon

Assertion : Addng Nall to e cream at D9 stops meting

Resson & Adding NaCl to «e crearnm Causes depression in Meemng poent

(11 Assestion True, Reason true, correct explanation

() Asseqticn true, Reason nue; incmert explanation

£3) Assertion true, Reason false

(4] Assertion fake, Aeason tue

4)

Adding NaCl to e does not stops meting. Due to depression in freeping point, e cream wil met at 3
fonies” B pErRtLINE.

Which of the following fonm stable carbocation?
(1) FiniC-Br (2) Cabe—CHx-Br [FhCHs - liH - CH;5 {4 CH-CHa—CH—Br
ar

1)
Watch Vidies Salution

Murmber of o & = bonds in Nes-1-end-yne
(13133 £114.3 1313.14 (4} 14, 13
1)
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€3

£F

€7

H—“—clc—cﬂ-c-‘f-cﬂ‘

e Jo. Jul ptt

The number of berzenaid stuctural lsemes hawing mokeouar formnula CsH: 2 which do not give Baeyers
reagent test

(1o [£}11 (3] 8 (44

{1

(DO =4)

Ko Al -y
& & oy w0

WWhnich of the folowing 5 an essential amind acid.

A} Lycing (8] Vahne (C) Theonine D} Glycme
(1} ARD () B [31ABC a0
3)

Watch Video Soluthon

Which of the fiodowtng will ghse phenol to react with HE:

O-CHy D.-"EH:I
(R} CZh

CHa
| OCH,

= :
CH5

(1)
Watch Video Saluthon
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19, Staternent- 1 @ m-Xylene react with HNO: + H504 and further copdse griees 4-niro Denzene 1 3-
dicarbawylic acid a5 a major product
Statesnest- Il : —CHa = ortho/pars deecting and -0 5 rmeta drectng.
(1) Both Statement | and stabenwent B ane true (2) Both statement | and statement || ane fake
(3) Siatement | s ree ik StEteimentll 5 false (d) SEtement | s fatse bt stabement | s ue
Ans. (1)
Sl Walch \Whdeo Sol uthon
200 Statement] : Pastition chromatography has thin layer of liguid as medium
Statermentil : Faper chromaingraphy has paperas medium.
{1} Both Stabement | and statement ll are true (2) Bobh statement | and statement Il ane fake
(31 Statement | Is true but statermentl s false (4} Stakément | s false but statement | is Tue
ans. (1)
Sal, Walch Video Sol ution
i 7.3 g benzalacstons |5 synthesezed from 10.6 g of benzaldehyde wsing acetong a5 other meactant.
Percertage yisid of berealaretnne.
(1) T ) 30% {3 500 () 45%
Ans. (3]
Sl Py -E H +CH_1-E-CH_1 FPh-CH=CH-C-CHy
[berzaiacetone)

Molar rmass of benzaidenyde =106 g mo-!
Molar miass of benzalacetone =146 g mio-!

106
Mok of benzsidenyde = = =01
106

0.1 mo benzaldefyde =01 mol of benzalacetones
.. Therorabical eid =01 x 1469 =146g

Actual yield 73
100 =-1= 100 =50%
Theomatcd yied 146

55 yiekd =



